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NEGATIVE NUMBERS AND INTEGERS

1. Using the number line, write the integer which is: 4 more than 3 (ii) 5

less than 2 (iii)8 more than — 9 (iv) 4 less than — 3

° Watch Video Solution

2. Which number in each of the following pairs is smaller? (i) 8, — 8 (ii)

0, —12(iii)—15, — 5(iv) 318, — 356

° Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_rbn9aGrFg2LE
https://dl.doubtnut.com/l/_cebctdh2cKBG

3. Write the absolute value of each of the following: 12 (ii) — 32 (iii) O

° Watch Video Solution

4. Write the absolute value of each of the following: (i)a — 3, if a is

greater than 3 (ii) a-5, if a is less than 5

° Watch Video Solution

5. Write the opposite of each of the following: (i) Increase in population
(i) Depositing money in a bank (iii)Earning money (iv) Going

Norht

° Watch Video Solution



https://dl.doubtnut.com/l/_cebctdh2cKBG
https://dl.doubtnut.com/l/_GaAQ1HdXiiHx
https://dl.doubtnut.com/l/_03SA6Hud6lwL
https://dl.doubtnut.com/l/_6LfhuOrtd4kJ

6. Write the opposite of each of the following: (i) Gaining a weight of 4kg

(ii) A loss of Rs. 1000 (iii) 25 (iv) — 15

° Watch Video Solution

7.Indicate the following by using integers: (i) 25° above zero (i) 5° below

zero (iii) A profit of Rs. 800 (iv) A deposit of Rs. 2500

° Watch Video Solution

8. Indicate the following by using integers: (i) 3km above sea level (ii) 2 km

below sea level

° Watch Video Solution

9. Mark the following integers on a number line:

(4)7


https://dl.doubtnut.com/l/_FFbHDONNpOAC
https://dl.doubtnut.com/l/_g9sdW9qnI5vz
https://dl.doubtnut.com/l/_eHp52sJ0qVp0
https://dl.doubtnut.com/l/_Ykj5mY3KMK2o

(i1) — 4

(44)0

° Watch Video Solution

10. Which number in each of the following pairs is smaller? (i) 0, — 4 (ii)

—3, 12 (iii) 8, 13 (iv) — 15, — 27

° Watch Video Solution

1. Which number in each of the following pairs is larger? (i) 3, — 4 (ii)

—12, —8(iii)) 0,7 (iv) 12, — 18

° Watch Video Solution

12. Write all integers between:
(i) —7and 3

(i) —2 and 2


https://dl.doubtnut.com/l/_Ykj5mY3KMK2o
https://dl.doubtnut.com/l/_F5LLoinvMrL9
https://dl.doubtnut.com/l/_j0QOOH2u7qV7
https://dl.doubtnut.com/l/_mjhtFCYQ2FRK

(iii) —4 and 0

(iv)Oand 3

° Watch Video Solution

13. How many integers are between? (i) —4and 3 (ii) 5 and 12 (iii)

—9and — 2(iv)0and 5

° Watch Video Solution

14. Replace * in each of the following by < > so that the statement is

true: (i) 2 * 5 (ii) O * 3 (iii) 0*7 (iv)-18 * 15 (v) -235* -532 (vi) -20*20

° Watch Video Solution

15. Write the following integers in decreasing order: (i)

~15,0, —2, —9, 7,6, —b5, 8(ii) —154, 123, — 205, — 89, — 74

° Watch Video Solution



https://dl.doubtnut.com/l/_mjhtFCYQ2FRK
https://dl.doubtnut.com/l/_Jz0pbUhmaI1O
https://dl.doubtnut.com/l/_r00rYnbkhdKJ
https://dl.doubtnut.com/l/_j0wL8PoQx6L1

16. Using the number line, write the integer which is: (i) 2 more than 3 (ii)

5 less than 3 (iii) 4 more than —9

° Watch Video Solution

17. Write the absolute value of each of the following:
(i) 14

(i) —25

(iii) O

(iv) —125

° Watch Video Solution

18. Write the absolute value of each of the following: (i) —248 (ii) a — 7,
if a is greater than 7 (iii) a — 7, if a — 2 is less than 7 (iv) a+4, if a is

greater than —4

| ° Wiak A \tAAaA CAlLiikiAan



https://dl.doubtnut.com/l/_j0wL8PoQx6L1
https://dl.doubtnut.com/l/_X1L55DTxgvsf
https://dl.doubtnut.com/l/_hsCbf1zICsR6
https://dl.doubtnut.com/l/_xynUFhmuAIm6
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19. Write the absolute value of each of the following:

(i) |a + 4] if a is less than —4

(i) | — 3|
(i) — | — 5|
(iv) [12 — 5|

o Watch Video Solution

20. (i) Write 4 negative integers less than —10 (ii) Write 6 negative

integers just greater than — 12

o Watch Video Solution

21. Which of the following statements are true? (i) The smallest integer is
zero (ii) The opposite of zero is zero (iii) Zero is not an integer (iv) O is

larger than every negative integer. (v) The absolute value of an integer is


https://dl.doubtnut.com/l/_xynUFhmuAIm6
https://dl.doubtnut.com/l/_yto3knojNLqF
https://dl.doubtnut.com/l/_QiatL8W4xnTI
https://dl.doubtnut.com/l/_Du3STHL3V414

greater than the integer. (vi)A positive integer is greater than its opposite
(vii)Every negative integer is less than every natural number. (viii)O is the

smallest positive integer.

° Watch Video Solution

22. Represent on the number line: 3 4 4

° Watch Video Solution

23.Represent on the number line: —3 4 4

° Watch Video Solution

24. Represent on the number line: 4 + ( — 3)

° Watch Video Solution



https://dl.doubtnut.com/l/_Du3STHL3V414
https://dl.doubtnut.com/l/_GBEDgRidpJOE
https://dl.doubtnut.com/l/_UVFKcyDQzNIB
https://dl.doubtnut.com/l/_1pCipQ9qlt6I

25.Represent on the number line: ( — 3) 4+ ( — 4)

o Watch Video Solution

26. Add the integers: 1259 and 3214

o Watch Video Solution

27. Add the integers:

— 5287 and 2432

o Watch Video Solution

28. Add the integers :

—523 and 937

A. 523


https://dl.doubtnut.com/l/_3Y3JtwoRc04w
https://dl.doubtnut.com/l/_lSXpFiTtVeqB
https://dl.doubtnut.com/l/_7QcZSEKRz9yC
https://dl.doubtnut.com/l/_AqWqqbmow5Ny

B. 937

C. 1460

D. 414

Answer: D

o Watch Video Solution

29. Add the integers:

— 4732 and 3258

o Watch Video Solution

30. Simplify:

( — 47352) + 21943

o Watch Video Solution



https://dl.doubtnut.com/l/_AqWqqbmow5Ny
https://dl.doubtnut.com/l/_wGrStBudE82S
https://dl.doubtnut.com/l/_hTZGtn8l44I1

31. Simplify:

94358 + ( — 76823)

A. 94823

B.17535

C. 5876

D.-17535

Answer: B

° Watch Video Solution

32. Draw a number line and represent each of the following on it:

54+ (—2) (i) (—9) +4

° Watch Video Solution



https://dl.doubtnut.com/l/_AvJTi9KlEXT9
https://dl.doubtnut.com/l/_40KegY1RrWb3

33. Draw a number line and represent each of the following on it:

(—=3)+(—5)(i)6+ (—6)

° Watch Video Solution

34. Draw a number line and represent each of the following on it:
@)=+ (-2)+2

(@) (—2)+7+(-9)

° Watch Video Solution

35. Find the sum of:
(i) — 557 and 488

(ii) —522 and — 160

° Watch Video Solution



https://dl.doubtnut.com/l/_WHoGhJprGY3V
https://dl.doubtnut.com/l/_kQeTMbeCKEUM
https://dl.doubtnut.com/l/_4dQJ4Q5ksEBa

36. Find the sum of:
(i) 2567 and — 325

(ii) — 10025 and 139

° Watch Video Solution

37.Find the sum of:
(i) 2547 and — 2548

(ii) 2884 and — 2884

° Watch Video Solution

38. Find the additive inverse of each of the following integers:
(i)52

(ii) —176

(iii) O

(iv) 1

| ° WMl L \ 2 dan C Al iklmn


https://dl.doubtnut.com/l/_tTELYvIlDgCC
https://dl.doubtnut.com/l/_lGLWQHedPNzG
https://dl.doubtnut.com/l/_COAfD0HOYggN
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39. Find the successor of each of the following integers:

(i)—42
(i) —1
(iii) O

° Watch Video Solution

40. Find the successor of each of the following integers:
(i)—200

(i) —99

° Watch Video Solution

41. Find the predecessor of each of the following integers:

(i)o


https://dl.doubtnut.com/l/_COAfD0HOYggN
https://dl.doubtnut.com/l/_TJHoo3irUzNN
https://dl.doubtnut.com/l/_Q2wgmfu43ZVj
https://dl.doubtnut.com/l/_H2CQ4I4h2dkI

(i) 1

(i) —1

° Watch Video Solution

42.Find the predecessor of each of the following integers:
(i)—125

(i) 1000

° Watch Video Solution

43. Which of the following statements are true? (i) The sum of a number
and its opposite is zero. (ii) The sum of two negative integers is a positive
integer. (iii) The sum of a negative integer and a positive integer is always
a negative integer. (iv) The successor of —14s 1. (v) The sum of three

different integers can never be zero.

° Watch Video Solution



https://dl.doubtnut.com/l/_H2CQ4I4h2dkI
https://dl.doubtnut.com/l/_eOjdOeyh4wMl
https://dl.doubtnut.com/l/_4wXHIVBh1qdO
https://dl.doubtnut.com/l/_DhHRzTq94pxh

44. Write all integers whose absolute values are less than 5.

° Watch Video Solution

45. Which of the following is false: (i) [4+4 2| = |4]| +|2] (ii)
2 =4 = [2 + [4| (iii) 4 —2[ = [4] - |2 (iv)

(=2)+ (=4 =|-21+]-4

° Watch Video Solution

46. Complete the following table: 4+, —6, —4, —2,0, 2, 4, 6
6, ,,,,,10, 4, ,,,,,, 2, ,,,,,,8 0 —6,,,,,,
-2, ,,,,,, =4 ,,,,,0 —6,,,, —6,,, From the above
table: Write all the pairs of integers whose sum is 0. Is

(-4 +(—-2)=(—-2)+(—4?1s0+(—6) = —67

° Watch Video Solution



https://dl.doubtnut.com/l/_DhHRzTq94pxh
https://dl.doubtnut.com/l/_WK6vJ3QyjJzg
https://dl.doubtnut.com/l/_qOePegjaOtV1

47.Find an integer x such that
(Je+1=0

(i)z +5=0

o Watch Video Solution

48.Find an integer x such that
(i)=3+z=0

(iz+(—8) =0

o Watch Video Solution

49.Find an integer x such that
7 +=x=0

(i)zx+0=0

o Watch Video Solution



https://dl.doubtnut.com/l/_5Yez0k0jkpPQ
https://dl.doubtnut.com/l/_i6b3ydwtdJhN
https://dl.doubtnut.com/l/_eXSyf0tOyuSH
https://dl.doubtnut.com/l/_N2UbDMDwU6LY

50. Subtract:
()4 from9

(i) —4from 7
(iii) 3 from — 8

(iv) —9 from —5

o Watch Video Solution

51. Subtract:
(i) — 1235 from 4532

(ii) — 789 from — 1253

o Watch Video Solution

52. Subtract:
(i) 3295 from — 1247

(ii) —435 from 0

o Watch Video Solution



https://dl.doubtnut.com/l/_N2UbDMDwU6LY
https://dl.doubtnut.com/l/_bZoNa21YFnNi
https://dl.doubtnut.com/l/_kll2bdzSsoo9

53. Find the value of:

412+ (—98) +(—84) +(—T7)+ 35

o Watch Video Solution

54. Find the value of:

—21+(—9)+63+(—22) + (—228) +137

o Watch Video Solution

55.Find the value of: —17 — ( — 13)

A4

C. 30

D. —30


https://dl.doubtnut.com/l/_kll2bdzSsoo9
https://dl.doubtnut.com/l/_5gpjA7RRwbCg
https://dl.doubtnut.com/l/_yMGvf2hWiAG1
https://dl.doubtnut.com/l/_9rPVCYUibXKv

Answer: B

o Watch Video Solution

56. Find the value of: —7 — 8 — ( — 25)

C.10

D.—10

Answer: C

o Watch Video Solution

57.Find the value of: 50 — ( —48) — ( — 2) — 110

o Watch Video Solution



https://dl.doubtnut.com/l/_9rPVCYUibXKv
https://dl.doubtnut.com/l/_M5WgyDqxhKAY
https://dl.doubtnut.com/l/_stLoQ1ZrOtn0

58. Find the value of:

12+ (—98) — (—84) + (7

o Watch Video Solution

59. Find the value of:

—2-[(-15) +(-2)+ (-3)]

o Watch Video Solution

60.Calculate: 1 —2+3—-4+4+5—-6+7—8+...4+19—20

o Watch Video Solution

61. Calculate the sum: 2+ ( —2) +2+ ( —2) + 2+ ( — 2) + (i)if the

number of terms is 140 (ii)if the number of terms is 125

o Watch Video Solution



https://dl.doubtnut.com/l/_cTU9XC2TyNPJ
https://dl.doubtnut.com/l/_LjQ2LUEYUtoH
https://dl.doubtnut.com/l/_cLKNtv2LFGTL
https://dl.doubtnut.com/l/_GgGe95BLBrR1

62. The sum of two integers is 48. If one of the integers is —24 ,

determine the other.

° Watch Video Solution

63.The sum of two integers is —396 . If one of them is 64, determine the

other.

° Watch Video Solution

64. If A is an operation on integers such that for integers a and b,
alAb =a — b — ( — 2) Find the value of: (i) 2A 3 (ii) ( — 3)A( — 4) (iii)

3A(—5)(iv) (— 4)A3

° Watch Video Solution



https://dl.doubtnut.com/l/_GgGe95BLBrR1
https://dl.doubtnut.com/l/_SaMloehvrqaE
https://dl.doubtnut.com/l/_P3IcZwDufGwI
https://dl.doubtnut.com/l/_EoKpM6Hg9bF8

65.0n a particular day, the temperature of Delhi at 10 a.m. was 13°C but
by the mid-night, it fell down to 6°C . The temperature of Chennai at 10
am. the same day was 18°C but fell down to 10°C by the mid-night.

Which fall is greater?

o Watch Video Solution

66. Subtract the first integer from the second in each of the following:
()12, — 5
(i) —12, 8

(iii) —225, — 135

o Watch Video Solution

67. Subtract the first integer from the second in each of the following:
(i) 1001, 101
(i) — 812, 3126

(ii) 7560, — 8


https://dl.doubtnut.com/l/_12zpQLzLX7wn
https://dl.doubtnut.com/l/_I6xYmF9Egx8i
https://dl.doubtnut.com/l/_DziCSmvv58Vk

° Watch Video Solution

68. Subtract the first integer from the second in each of the following:
(i) — 3978, — 4109

(i) 0, — 1005

° Watch Video Solution

69. Find the value of:
(i)—27—(—23)

(i) —17 — 18 — ( — 35)

° Watch Video Solution

70. Find the value of:
(i)—12—(—5) — ( — 125) + 270

(ii) 373 + ( — 245) + ( — 373) + 145 + 3000

e


https://dl.doubtnut.com/l/_DziCSmvv58Vk
https://dl.doubtnut.com/l/_EAomQW7IY02I
https://dl.doubtnut.com/l/_1mXoHITBceum
https://dl.doubtnut.com/l/_r44Id4508Hb1
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71. Find the value of:
14 (—475) + ( — 475) + ( — 475) + ( — 475) + 1900

(—1)+(—304) +304+304+ (—304) +1

° Watch Video Solution

72. Subtract the sum of — 5020 and 2320 from — 709

° Watch Video Solution

73. Subtract the sum of —1250 and 1138 from the sum of 1136 and

—1272

° Watch Video Solution

74.From the sum of 233 and — 147, subtract —284


https://dl.doubtnut.com/l/_r44Id4508Hb1
https://dl.doubtnut.com/l/_Pl09vL2YibtJ
https://dl.doubtnut.com/l/_7heFJhjIzvsx
https://dl.doubtnut.com/l/_hxzK1eWE9rhI
https://dl.doubtnut.com/l/_qHe01cYfdvQk

A.-370

B. 86

C.370

D.-86

Answer: C

o Watch Video Solution

75. The sum of two integers is 238. If one of the integers is —122,

determine the other.

o Watch Video Solution

76. The sum of two integers is —223 . If one of the integers is 172, find the

other.

o Watch Video Solution



https://dl.doubtnut.com/l/_qHe01cYfdvQk
https://dl.doubtnut.com/l/_Gc4e0wjK7J4d
https://dl.doubtnut.com/l/_fhk37OA0jSuL

77. Evaluate the following: (i)
—8—-24+4+31—-26—-284+7+19—-18 -8+ 33 (i)

—26—20+33— (—33)+21+24— (—25) —26— 14— 34

° Watch Video Solution

78.Calculate:1 - 2+3—-4+5—-6+... +15—16

° Watch Video Solution

79. Calculate the sum: 5+ ( — 5) + 5+ ( — 5) + if the number of terms

is 10.if the number of terms is 11.

° Watch Video Solution

80. Replace * by < or > in each of the following to make the statement

true: )(—6)+(—9)-(—6)—(—9)


https://dl.doubtnut.com/l/_2plj58V99EOh
https://dl.doubtnut.com/l/_QNrzpAgqgJzp
https://dl.doubtnut.com/l/_tfxV2M7CELmS
https://dl.doubtnut.com/l/_5ExVapVhfSrM

(i0)( —12) — (—12) - ( — 12) + ( — 12)

° Watch Video Solution

81. Replace * by < or > in each of the following to make the statements

true: (i) (-20)-(-20)* 20-(65) (ii) 28-(-10)*(-16)-(-76)

° Watch Video Solution

82.If ? is an operation on integers such that a?b= —a+b— ( —2)
for all integers a, b. Find the value of : (i) 4 ? 3 (ii) (-2) ? (-3) (iii) 6 ? (-5) (iv)

(-5)?6

° Watch Video Solution

8. If a and b are two integers such that a is the predecessor of b. Find

the value of a — b.

° Watch Video Solution



https://dl.doubtnut.com/l/_5ExVapVhfSrM
https://dl.doubtnut.com/l/_dOHqY0ZytTqN
https://dl.doubtnut.com/l/_qyALqFKbMbG6
https://dl.doubtnut.com/l/_eqPnUenbQCUx

84.1f a and b are two integers such that a is the successor of b. Find the

value of a — b

° Watch Video Solution

85. Which of the following statements are true: (i) —13 > 8( — 2) (ii)
—4 + ( — 2) < 2(iii) The negative of a negative integer is positive. (iv) If
a and b are two integers such that a>b, then a — b is always positive
integer. (v) The difference of two integers is an integer. (vi)Additive
inverse of a negative integer is negative. (vii) Additive inverse of a positive

integer is negative. (viii) Additive inverse of a negative integer is positive.

° Watch Video Solution

86. Fill in the blanks: (i) 7+ =0 (ii) 29+ =0 (i) 132+ (-132) = _(iv) 14 + _

=22 (v)-1256 + =-742 (vi) -1234 =-4539

| ° Wiak A \tAAaA CAlLiikiAan



https://dl.doubtnut.com/l/_eqPnUenbQCUx
https://dl.doubtnut.com/l/_JmzJM3dIYdCn
https://dl.doubtnut.com/l/_RuSGR04zTWKQ
https://dl.doubtnut.com/l/_xRH8z7dsWS1U
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87. Which of the following statement is true? (a) -7 > -5 (b) -7 < -5 (c) (-7) +

(-5)>0(d)(-7)-(-5)>0

° Watch Video Solution

88.5 less than — 2 is

A3

D.7

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_xRH8z7dsWS1U
https://dl.doubtnut.com/l/_d0dZuQooz7Dn
https://dl.doubtnut.com/l/_wn5EK6bV4qzf

89.6 more than — T is
(a)1

(b) —1

(c) 13

(d) —13

o Watch Video Solution

90. If = is a positive integer, then (a) x+|x|=0 (b) x-|x|=0 (c) x+|x|=-2x (d)

x=-1|x|

o Watch Video Solution

91. If z is a negative integer, then (a) z + x| =0 (b) z — |z| =0

z+|z|= —2zxd)x = — |z

o Watch Video Solution



https://dl.doubtnut.com/l/_Kp44w2YFE4J2
https://dl.doubtnut.com/l/_lkn9cxm8iAQu
https://dl.doubtnut.com/l/_lBNofASC0qbT
https://dl.doubtnut.com/l/_nmNoWd5vFWuy

92. If x is a negative integer, then (a) x + || =0 (b) x — |z| = 0 (¢)

z+|z|= —2zxd)x = — |z

o Watch Video Solution

93.If z is greater than 2,then |2 — x| =
(@2—=
(b)x — 2
(@2+=

(d)—xz — 2

o Watch Video Solution

94.9 + | — 4] is equal to:
(a)5

(b) —5

(c) 13

(d) —13



https://dl.doubtnut.com/l/_nmNoWd5vFWuy
https://dl.doubtnut.com/l/_EtwgdOQ8fgSi
https://dl.doubtnut.com/l/_W8CxOriEtByu

| & Watch Video Solution

95. ( — 35) + ( — 32) is equal to
(a)67

(b) — 67

() -3

(d)3

o Watch Video Solution

96. ( — 29) + 5 is equal to:
(a)24

(b) 34

(c)—34

(d) —24

o Watch Video Solution



https://dl.doubtnut.com/l/_W8CxOriEtByu
https://dl.doubtnut.com/l/_KZcNRaH4sVz8
https://dl.doubtnut.com/l/_pFtuDo5dXxhh

97.| — | — 7| — 3| is equal to
(a) =7

(b) 7

(c) 10

(d) —10

o Watch Video Solution

98. The successor of —22 is

A —23

B.—21

C.23

D.21

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_UnL7glRMuMiU
https://dl.doubtnut.com/l/_oTN4riUe4l24

99. The predecessor of — 14 is

A —15

B. 15

C.13

D.—13

Answer: A

o Watch Video Solution

100. If the sum of two integers is —26 and one of them is 14, then the
other integer is

(a)—12

(b) 12

(c) —40

(d) 40

o Watch Video Solution



https://dl.doubtnut.com/l/_zG5d67o3U46q
https://dl.doubtnut.com/l/_elF2M36xADmt

101. Which of the following pairs of integers have 5 as a difference?
(@)10, 5

(b) =10, —5

()15, —20

(d) both (a) and (b)

° Watch Video Solution

102. If the product of two integers is 72 and one of them is — 9, then the

other integer is

(c) 81

(d) 63

° Watch Video Solution



https://dl.doubtnut.com/l/_elF2M36xADmt
https://dl.doubtnut.com/l/_MRvGLMm84V1v
https://dl.doubtnut.com/l/_bjvP7FwcXXV9

103. On subtracting — 7 from — 14, we get

A. -21

C.-14

D. 21

Answer: B

o Watch Video Solution

104.The largest number that divides 64 and 72 and leave the remainders
12 and 7 respectively, is

(a) 17

(b) 13

(c)14

(d) 18

o Watch Video Solution



https://dl.doubtnut.com/l/_tRyiYuEtD2JG
https://dl.doubtnut.com/l/_vqQd0EX3yO3Q

105. The sum of two integers is —23 . If one of them is 18, then the other
is

(a)—14

(b) 14

(c) 41

(d) —41

o Watch Video Solution

106. The sum of two integers is — 35 . If one of them is 40, then the other
is

(a)b

(b) =75

(c) 75

(d) -5

o Watch Video Solution



https://dl.doubtnut.com/l/_vqQd0EX3yO3Q
https://dl.doubtnut.com/l/_mrWI1l1bc6kN
https://dl.doubtnut.com/l/_Sut4CFHcJKnC

107. On subtracting — 5 from O, we get

A —5

B.5

C. 50

D.0

Answer: B

o Watch Video Solution

108.( — 16) + 14 — ( — 13) is equal to:

A -1

B.12

D.-15


https://dl.doubtnut.com/l/_nZPSmkl2bH9a
https://dl.doubtnut.com/l/_8U2BWqikfmQm

Answer: C

o Watch Video Solution

109.( —2) x (—3) x 6 x ( —1)isequal to
(a)36

(b) — 36

(c) 6

(d) —6

o Watch Video Solution

110.86 + ( — 28) + 12 + ( — 34) is equal to:
(a)— 36

(b) 40

(c) 36

(d) —40

o Watch Video Solution



https://dl.doubtnut.com/l/_8U2BWqikfmQm
https://dl.doubtnut.com/l/_0wDVl4j2UUlK
https://dl.doubtnut.com/l/_9vvBSsgTvxwE

M.(—12) x (—9) —6 x (— 8) is equal to:
(a) 156

(b) 60

(c) —156

(d) —60

o Watch Video Solution

112. The successor of — 79 is

D. 78

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_9vvBSsgTvxwE
https://dl.doubtnut.com/l/_m7Don8Xfequ0
https://dl.doubtnut.com/l/_Z1nAKZD4M3G7

113. The predecessor of —99 is

A —98

B. —100

C.98

D. 100

Answer: B

o Watch Video Solution

114. The integer 8 more than — 12 is
(a) 4

(b) —4

(c) —20

(d) 20

I o Watch Video Solution


https://dl.doubtnut.com/l/_Z1nAKZD4M3G7
https://dl.doubtnut.com/l/_D11fXUq8DPDa
https://dl.doubtnut.com/l/_l2zjFSlCUAPV

115. What should be added to 18 to get — 34
(a)52

(b) —52

(c) —16

(d) 16

o Watch Video Solution

116. The additive inverse of 17 is

A —17

B.17

Answer: A

| ° Wiak A \tdAAaA CAlLiikiAan


https://dl.doubtnut.com/l/_l2zjFSlCUAPV
https://dl.doubtnut.com/l/_6sABMga1CXKb
https://dl.doubtnut.com/l/_s7gRm9cU5iIF
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117.1f an integer a is greater 7,then |7 — a| =
@7—-a
(b)a — 7
(Q7+a

d)—-7—a

° Watch Video Solution

118. The additive identity element in the set of integers is

Al

B.—1

C.0

D. None of these

Answer: C



https://dl.doubtnut.com/l/_s7gRm9cU5iIF
https://dl.doubtnut.com/l/_dGMyrVp1JPDY
https://dl.doubtnut.com/l/_FnFSG3lgurPo
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119. Which of the following pairs of integers have 9 as a difference? (a) 19,

10 (b) =19, — 10(c) 19, — 10(d) (a) and (b) both

° Watch Video Solution

120. When 47 is subtracted from — 23, we get

A.70

B. 24

C.-24

D.-70

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_FnFSG3lgurPo
https://dl.doubtnut.com/l/_KGtpFzmgEya9
https://dl.doubtnut.com/l/_VuRMyJTgRJpz

121. If is an operation on integers such that ¢ b =a — b — 2, for all
integers,a, b.Then,7 ( —4) =

(a)1n

(b) —9

(c)9

(d)1

° Watch Video Solution

122. Simplify: ( — 145) + 97 + ( — 365) + ( — 71) + 8

° Watch Video Solution

123. The sum of two integers is 84. If one of the integers is 44, determine

the other.

A. 40

B. 44


https://dl.doubtnut.com/l/_ClSc6fIx0qxP
https://dl.doubtnut.com/l/_h4u3jlcTFwmD
https://dl.doubtnut.com/l/_Q44tMLTbzQ77

C.-40

D. 84

Answer: A

o Watch Video Solution

124.Simplify: 9 x ( —16) + ( — 17) x ( — 16)

o Watch Video Solution

125. If
r=(—-23)+22+(—23) +22+...... (40terms) and y = 11 + ( — 10) -

Then the value of y — x is

o Watch Video Solution

126.Calculate: 1 —2+4+3—-4+5—-6+7—8 + ... + 49 — 50.


https://dl.doubtnut.com/l/_Q44tMLTbzQ77
https://dl.doubtnut.com/l/_YPNjRlNmKpwL
https://dl.doubtnut.com/l/_wRz1hgz3DHDY
https://dl.doubtnut.com/l/_kamfYfXk8rX5

° Watch Video Solution

127.Evaluate: Tz | — 15| — | — 9|z 8

° Watch Video Solution

128. Find the value of 38 — ( — 25) — 58 + ( — 15) + 23 — ( — 8)

A 22
B.21
C.36

D. 23

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_kamfYfXk8rX5
https://dl.doubtnut.com/l/_QAoAnStcJoav
https://dl.doubtnut.com/l/_En1Q1RmGc5DJ

129. Simplify: 5+ ( —5) + 5+ ( — 5) + When the number of terms is

20 when the number of terms is 25.

° Watch Video Solution

130. If A is an operation on integers such that for integers
aandb,aAb=a —b— (—5) Find the value of (i) (— 7)A3 (ii)

(— 9)A( — 4) (iii)2A5 (iv) 4A( — 5)

° Watch Video Solution

131. Evaluate: —36 — 40 +43 — ( —29) + 18 — ( — 74)

A. 80
B. —63
C.—88

D. 88


https://dl.doubtnut.com/l/_qY1FNisloudD
https://dl.doubtnut.com/l/_DJq3RkDjplJD
https://dl.doubtnut.com/l/_LrvMVxxeFzGO

Answer: D

o Watch Video Solution

132. The largest negative integer is ...

o Watch Video Solution

133. The smallest positive integer is ..

o Watch Video Solution

1B4.(—22) + 21+ (—22) +21 +

.. 20 terms is equal

o Watch Video Solution



https://dl.doubtnut.com/l/_LrvMVxxeFzGO
https://dl.doubtnut.com/l/_K4KB8LU9PSgD
https://dl.doubtnut.com/l/_ziHuVoOwCCTz
https://dl.doubtnut.com/l/_rvk7BELZKvZz

135. Find the value of

(—3)(—4912)(-1) = ...

o Watch Video Solution

136. Find the value of

(-D(-D(-1)(—-1) = ..

o Watch Video Solution



https://dl.doubtnut.com/l/_VGUiZTojd8uK
https://dl.doubtnut.com/l/_8qugsXLIqYXK

